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QUESTION 1

Which document describes new Informix features? 

A. oncofig.std file 

B. Release Notes 

C. Machine Notes 

D. Quick Start Guide 

Correct Answer: B 

 

QUESTION 2

Which two operations are performed with the onspaces command? (Choose two.) 

A. Add space to the server. 

B. Compress server space. 

C. Encrypt the server space. 

D. Remove space from the server. 

E. Restrict access to the server space. 

Correct Answer: AD 

 

QUESTION 3

Which command option should be used to resume an interrupted onbar restore? 

A. -RETRY 

B. -RESTART 

C. -REINTIIALZE 

D. -BEGIN_AGAIN 

Correct Answer: B 

 

QUESTION 4

What is the only isolation level available on an unlogged database? 

A. Dirty Read 



B. Cursor Stability 

C. Committed Read 

D. Repeatable Read 

Correct Answer: A 

 

QUESTION 5

Assuming the tables and columns mentioned below exist, which of the following SQL statements will return an error? 

A. INSERT INTO orders SELECT * FROM new_orders; 

B. SELECT company, fname, lname, state FROM customer WHERE state = (SELECT state, zipcode FROM customer
WHERE fname = "John"); 

C. DELETE FROM stock WHERE 0 = (SELECT count(*) FROM manufact WHERE manufact.manu_code =
stock.manu_code) 

D. UPDATE customer SET (address, city, state, zip) = (SELECT address, city, state, zip FROM newaddr WHERE
newaddr.customer_num = customer.customer_num) WHERE customer_num IN (SELECT customer_num FROM
newaddr); 

Correct Answer: B 

 

QUESTION 6

Which two events can initiate a trigger on a table? (Choose two.) 

A. DROP 

B. ALTER 

C. INSERT 

D. SELECT 

E. TRUNCATE 

Correct Answer: CD 

 

QUESTION 7

What Informix data type is suitable for storing video clips up to a size of 4 TB? 

A. BLOB 

B. BYTE 

C. CLOB 



D. COLLECTION 

Correct Answer: A 

 

QUESTION 8

Which database contains the system-monitoring interface (SMI) tables which provide information about the state of the
database server? 

A. sysutils 

B. sysstate 

C. sysmaster 

D. sysmonitor 

Correct Answer: C 

 

QUESTION 9

Which of the following methods will allow you to determine how much space is currently in use? 

A. Query the $ table 

B. Query the sysstats database 

C. Query the sysusers database 

D. Query the sysmaster database 

Correct Answer: D 

 

QUESTION 10

Given INFORMIXCONTIME = 60 and INFORMIXCONRETRY = 3, if the initial connection attempt fails, what
subsequent attempts will be made to connect? 

A. 60 and 120 seconds before aborting 

B. Every 3 minutes within one hour before aborting 

C. Every 3 seconds within one hour before aborting 

D. Wait indefinitely until it is successfully completed 

Correct Answer: A 

 

QUESTION 11



Which of the following privileges can NOT be granted to a role? 

A. Type-Level 

B. Table-Level 

C. Routine-Level 

D. Database-Level 

Correct Answer: D 

 

QUESTION 12

Click the Exhibit button. 

In the exhibit, which ALTER TABLE statement is used to add the foreign key constraint where customer_num column in
the orders table is a foreign key that references the customer_num column in the customer table? 

A. ALTER TABLE customer ADD CONSTRAINT (FOREIGN KEY (order_num) REFERENCES order ); 

B. ALTER TABLE orders ADD CONSTRAINT (FOREIGN KEY (order_num) REFERENCES customer ); 

C. ALTER TABLE customer ADD CONSTRAINT (FOREIGN KEY (customer_num) REFERENCES order ); 

D. ALTER TABLE orders ADD CONSTRAINT (FOREIGN KEY (customer_num) REFERENCES customer ); 

Correct Answer: D 
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